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· Agent behavior: How do the agents behave/work?
· Patches barriers where the turtles cannot walk over/through. They represent boundaries which will be used to define buildings in the final version of the model. 
· Turtles represent students. They are color coded based on what year they are (not used in interactions yet) and based on whether they are Greek or antiGreek. They walk around randomly and interact with each other. At each interaction, their bias for or against Greek life changes depending on whether they interact with a turtle that is antiGreek (pink color) or a turtle that is Greek (blue color). Their bias will also change at a set number of ticks (as determined by a slider). At this set number of ticks an event happens such that it influences the turtles’ bias either positively or negatively. That event’s influence will also be determined by a slider.
· At 100 ticks the turtles’ bias will be checked to see if it has met a threshold. Depending on the threshold that is met, the turtle will change to be Greek or antiGreek. It acts as a rush event. One year is 400 ticks. After 400 ticks the turtles “year” variable gets updated to one higher. If “year” is a 4 (senior), then the turtle dies and hatches a new turtle with year 1.

· System behavior: How does the overall system behave/work?
· Currently the only thing affecting the bias are interactions with other Greeks or antiGreeks, media bias and school bias. The result depends on the bias and number of turtles that are Greek or antiGreek. Generally, the more positive or negative that the sliders are for or against Greek life, the more likely it is that that demographic (Greek or antiGreek) will take over.  
· Rationale for agent rules: Why did you give the agents these rules?
· The changes to the model, specifically regarding the turtles, makes it more realistic. Instead of having turtles constantly change on a continuous basis, the turtles will now change at fixed points. It’s more realistic because students aren’t always thinking about Greek life, only during rush periods or during Greek events. The same applies to antiGreek students.
· Model output: Have you developed new measures for the output? Do you think your model currently provides a good description of the system’s behavior? Why or why not?
· New measures being developed are events (determined after a certain number of ticks pass; set by a slider), rush period (at which point turtles change color to become Greek), and a Greek activity period (turtles move to a Greek building (fraternity house). 
· The model currently still provides a basic description of how the final model will work. The new features need to be implemented.     
· Questions: What questions do you have about your model?
· It’s gone from a general concept idea to something more specific one that focuses on recruitment and how positive or negative media events along with other factors affect it. There will be controlled events (positive/negative media coverage, turtles moving to Greek housing) which eliminates some randomness. Is this ok to do?
· Due to the focus on Greek recruitment and how different factors impact it, is having an anitGreek turtle subset still relevant? What role can they now take in the model?
· Next steps: Briefly list your next steps for improving the model.
· One is to incorporate a layout or two of buildings (which represent a school) with clear fraternity/sorority house designations (patches that aren’t black). 
· Implement media events 
· Use slider to determine frequency.
· Use slider to determine if bias of those events are positive or negative. 
· Implement turtle behavior where they go to a fraternity/sorority building after becoming Greek.
· Rush period after 100 ticks. 
· Travel to Greek building after those 100 ticks. 
· Turtles then leave Greek houses and roam around randomly.    
· Model Analysis: What conclusions can you draw from the model’s output?
· [bookmark: _GoBack]There are things that first need to be corrected before moving forward with the new/final implementations. The model is looking more and more realistic but still very one sided when it comes to which group (Greek or antiGreek) takes over in numbers.  

